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QUESTION 1

You are designing a highly available solution based on NetApp Cloud Volumes ONTAP that will be deployed in Google
Cloud. The solution will need to grow over time to meet demand. 

In this scenario, when adding disks, which two statements are true? (Choose two.) 

A. Cloud Manager creates a mirrored aggregate. 

B. Cloud Manager adds a new Cloud Volumes ONTAP instance. 

C. Cloud Manager allocates disks to both nodes. 

D. Cloud Manager allocates disks to one node. 

Correct Answer: BC 

 

QUESTION 2

You are sizing a new Azure NetApp Flies deployment and are documenting the throughput limit calculations within the
design. In this scenario, which two factors are used to accomplish this task? (Choose two.) 

A. the quota that is assigned to the capacity pool 

B. the service level of the capacity pool 

C. the service level of the volume 

D. the quota that is assigned to the volume 

Correct Answer: AB 

 

QUESTION 3

You are designing an automation solution that you will use across both on-premises and cloud-based NetApp ONTAP
systems. You want a single automation solution for both locations to reduce the administrative overhead. In this
scenario, which two automation tools would you use? (Choose two.) 

A. Ansible 

B. Rest API 

C. ARM 

D. CloudFormation 

Correct Answer: BC 

 

QUESTION 4
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Your manager asks you to include steps In your NetApp Hybrid cloud deployment to reduce the risk of a developer
accidentally interfering with your mission-critical applications that are in production. 

In this scenario, which step would you perform? 

A. Identify federated NetApp Cloud Manager\\'s identity to your company\\'s SSO. 

B. Use dedicated NetApp Cloud Manager accounts for development and production environments. 

C. Isolate the production\\'s VPC network from the development\\'s VPC network. 

D. Enable multifactor authentication (MFA) for privileged administrators to access NetApp ONTAP software and NetApp
Cloud Manager. 

Correct Answer: C 

 

QUESTION 5

You want to protect your data against ransomware attacks In Cloud Volumes ONTAP In this scenario, which two
policies should be enabled? (Choose two.) 

A. Snapshot policy 

B. tiering policy 

C. FPolicy 

D. export policy 

Correct Answer: AB 
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